












Is a given vector in the span?

Which of the following true statements can be checked without
row reduction?

1. (0, 1, 2) is in the span of (3, 3, 4), (0, 10, 20), (0,�1,�2)

2. (0, 1, 2) is in the span of (3, 3, 4), (0, 5, 7), (0, 6, 8)

3. (0, 1, 2) is in the span of (3, 3, 4), (0, 1, 0), (0, 0,
p
2)

4. (0, 1, 2) is in the span of (5, 7, 0), (6, 8, 0), (3, 3, 4)

Poll







Solutions to Ax = b

If b 6= 0 then the set of solutions to Ax = b is

1. always a span

2. sometimes a span

3. never a span

Poll


